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Question Number : 1 Question Id : 441009631437 Question Type : MCQ



During the Revolt of 1857, which of the following was proclaimed as Shahenshah-e-Hindustan?

Options :

4410092479891. #* Tantia Tope
4410092479892. ¥ Bahadur Shah I
4410092479893. # Prince Firoz Shah
4410092479894. ¥ Mangal Pandey

Question Number : 1 Question Id : 441009631437 Question Type : MCQ

1857 % fagIg & aRM, Fufafed & 3 frd wgeme-u-Rgwam aifvd fasar mn um

Options :

4410092479891, ¥ AT e
4410092479892. ¥ TgTgR Vg fgdta
4410092479893. ¥ TTESIGl UhrIol A
4410092479894 ¥ WA UTS

Question Number : 2 Question Id : 4410091114054 Question Type : MCQ

The partition of Bengal in 1905 sparked widespread opposition across India and led to the emergence of a
mass nationalist upsurge known by what name in deltaic Andhra?

Options :

4410094392202. ¥ Samyukta Andhra Mobilisation
4410094392203. ¥ Vandemataram Movement
4410094392204. # Anti-Partition Movement
4410094392205. * Andhra National Awakening

Question Number : 2 Question Id : 4410091114054 Question Type : MCQ

1905 H ST fIHTSM & HRUI QY HRA H TS faR1Y BT 3RH 3T 3R 38 U TS Ayard
TP DI 5 foar foY SeeTs 311 (deltaic Andhra) H TG AT SHT 1T 82

Options :

4410094392202, ¥ Yo 38 AMHEC]

4410094392203, ¢ GSHTARH 3fare
4410094392204, # fauTeH-faRIeht siicte
4410094392205, * 3fi¢f AP SR

Question Number : 3 Question Id : 4410091114069 Question Type : MCQ

Which of the following statements best describes the Young Bengal Movement led by Henry Vivian
Derozio?

Options :

4410094392262. # It promoted the revival of Vedic rituals and traditional caste structures.
4410094392263. ¥ It encouraged rational thinking, individual liberty and social reform.
4410094392264. * It supported the British East India Company’s administrative policies.
4410094392265. # 1t focused solely on religious reforms among orthodox Hindus.



Question Number : 3 Question Id : 4410091114069 Question Type : MCQ

fafafea & @ F-a1 Hy= -1 fafag A (Henry Vivian Derozio) %frqaan?r g4l ST
3fIer BT FeY 3w] quiH PRl 67

Options :

4410094392262, ¥ Y dfcH SAIFH! R URURS SITTA-GR-1H & Y: Taa- &I Seral fHra|
4410094392263, ¥ THY GHATd Wid, HfGTd Taadl SR TS R BT Uiere- o
4410094392264, % W AR 3% ST HUH BT YRS ifaal o1 gHL= foar m|
4410094392265, * 3TH Paq Tiedrel fEgal P Heg Yifties R 1R e Hied fvar |

Question Number : 4 Question Id : 441009632147 Question Type : MCQ

Who among the following revolutionaries conspired and executed the plan to kill assistant superintendent
of police John Saunders, who was responsible for Lala Lajpat Rai’s death?

Options :

4410092482731. ¥ Jatin Das
4410092482732. % Ajit Singh
4410092482733. ¥ Lala Hardayal
4410092482734. ¥ Bhagat Singh

Question Number : 4 Question Id : 441009632147 Question Type : MCQ

fafafad wifdeial & @ feem Teraes fery sidiers o Tiey ! gl o Iforer =t 3fik 38
3T f&am, Sl STell STeiyd X1 &1 g o fore forhgR U

Options :

4410092482731, % Sffa q™
4410092482732, ¥ 3iford Rig
4410092482733. ¥ Tl gGATC
4410092482734, ¢ WTd g

Question Number : 5 Question Id : 441009605731 Question Type : MCQ
Pata naach of is the folk dance of Kurmis and Santhals.

Options :

4410092378041. ¥ Assam

4410092378042. * Bihar

4410092378043. # Uttarakhand

4410092378044. ¥ West Bengal

Question Number : 5 Question Id : 441009605731 Question Type : MCQ
pT UIdl 1< (Pata naach) W@ﬂmﬁmwgl

Options :

4410092378041. # 3JH

4410092378042, ¥ fdgR



4410092378043, ¥ ITRRAS
4410092378044, ¢ TI&T ST

Question Number : 6 Question Id : 441009609551 Question Type : MCQ

How many languages are there in the Eighth Schedule of the Constitution of India?
Options :

4410092393321. % 14

4410092393322. # 18

4410092393323. ¥ 20

4410092393324. ¥ 22

Question Number : 6 Question Id : 441009609551 Question Type : MCQ
YR TfAUM Pt 31Sar e § fpa-t HTeTg 2mfid g2

Options :

4410092393321. * 14

4410092393322. # 18

4410092393323. % 20

4410092393324, ¢ 22

Question Number : 7 Question Id : 441009632401 Question Type : MCQ

The ancient folk dance 'Karagattam' has its origin in which regions of Tamil Nadu?
Options :

4410092483747. # Chennai and Madurai

4410092483748. ¥ Tanjore and Tiruvarur

4410092483749. ¥ Coimbatore and Kanchipuram

4410092483750. # Trichy and Salem

Question Number : 7 Question Id : 441009632401 Question Type : MCQ
UTEH @l T ‘BRBEH (Karagattam)' B I AU & [y &7 T g3 82

Options :

4410092483747, % TS 3R HGY
4410092483748, ¢ ToIR 3R fasasx
4410092483749, ¥ HIITCR 3R HIATYRH

4410092483750, ¥ it 3R T

Question Number : 8 Question Id : 441009606022 Question Type : MCQ
The first Ramakatha in Kannada was composed by:

Options :

4410092379205. ¥ Narhari

4410092379206. ¥ Kunura Vyasa

4410092379207. # Sarvajna



4410092379208. ¥ Mallikarjuna

Question Number : 8 Question Id : 441009606022 Question Type : MCQ

HAS H UYH JAHBYT B T [T gRI o1 715 oo
Options :

4410092379205, ¢ TRBR (Narhari)
4410092379206. ¥ HHRANY (Kunura Vyasa)
4410092379207 % TAF (Sarvajna)

4410092379208. ¥ HfcadTo (Mallikarjuna)

Question Number : 9 Question Id : 4410091249840 Question Type : MCQ

Situated in the Bay of Bengal, this group of more than 300 islands has about 265 uninhabited ones, is
divided into two groups by the 10° Channel, and was once geologically part of South-East Asia. The
islands enjoy a tropical climate moderated by sea breezes. Which group of islands is being described?

Options :

4410094932523. % Lakshadweep
4410094932524. ¥ Andaman and Nicobar
4410094932525. ¥ Maldives
4410094932526. * Sri Lanka

Question Number : 9 Question Id : 4410091249840 Question Type : MCQ

ST Pt We! H R, 300 T TTeT GHUT aTd 39 THE H THT 265 A5 419 €1 8 10° 990 gRI Gl
gl § fauTiord 3 ofR T wHg W iy U ¥ Gférr-gd uikrar &1 few unl 34 gl

JUH e STaarg T Ua-! gRT a3d it & | T8 [y g1d THg HI gui foa i X81 82

Options :

4410094932523, ¥ TG
4410094932524, ¥ 3SH 3R FADHIER
4410094932525, % HAGd
4410094932526. ¥ 41 el

Question Number : 10 Question Id : 441009638105 Question Type : MCQ
Which of the following Himalayan passes connects Ladakh with China?
Options :

4410092506563. ¥ Aghil Pass

4410092506564. ¥ Nathu La Pass

4410092506565. ¥ Bum La Pass

4410092506566. #* Pangsau Pass

Question Number : 10 Question Id : 441009638105 Question Type : MCQ

e 3R I Frafafed ¥ @ SiH-97 figamerd of aren oxd g2

Options :
4410092506563, ¥ 3fferd g0



4410092506564, % =T AT G
4410092506565. ¥ §H T G

4410092506566, ¥ TIEY 3f

Question Number : 11 Question Id : 441009638735 Question Type : MCQ
The ‘Kamptee’ coal field is located in which State of India?

Options :

4410092509083. ¥ Maharashtra

4410092509084. # Bihar

4410092509085. # Odisha

4410092509086. # Jharkhand

Question Number : 11 Question Id : 441009638735 Question Type : MCQ
HTHST (Kamptee)' DI 87 HRd & fra g A R g2

Options :

4410092509083. ¥ HGIRTSC

4410092509084. % fIgR

4410092509085, % SfifgdT

4410092509086. ¥ IRTS

Question Number : 12 Question Id : 441009637587 Question Type : MCQ

Gurdwara Sri Kartarpur Sahib is located in which of the following neighbouring countries of India?
Options :

4410092504491. # Nepal

4410092504492, ¥ Pakistan

4410092504493. ¥ Bangladesh

4410092504494, ¥ Afghanistan

Question Number : 12 Question Id : 441009637587 Question Type : MCQ

TEGRT l PRARYR Hifed HRd & Faferad # 9 fg ugrl d=r & Rid &2

Options :

4410092504491, % JUTA
4410092504492, ¢ UTfb&d
4410092504493, % FATCY
4410092504494, ¥ I

Question Number : 13 Question Id : 441009637106 Question Type : MCQ

In which of the following states is the first commercially operated oilfield of India located?
Options :

4410092502567. ¥ Arunachal Pradesh

4410092502568. * Nagaland



4410092502569. ¥ Assam
4410092502570. ¥ Manipur

Question Number : 13 Question Id : 441009637106 Question Type : MCQ

FafalRed & T fg =g & YR &1 Ugan saraiie U I Iarferd ad & fRud g2
Options :

4410092502567, # SO TR

4410092502568, # ANTAS

4410092502569, ¢ 3 TH

4410092502570. ¥ QR

Question Number : 14 Question Id : 441009636573 Question Type : MCQ
Match the following power projects with their corresponding states and select the correct code.

Power Project State

A. Tarapur 1. Tamil Nadu
B. Kalpakkam 2. Maharashtra
C. Narora 3. Uttar Pradesh
D. Rawatbhata 4. Rajasthan
Options :

4410092500435. # A-1,B-2,C-3,D-4
4410092500436. ¥ A-2,B-3,C-4,D-1
4410092500437. # A-2,B-1,C-4,D-3
4410092500438. ¥ A-2,B-1,C-3,D-4

Question Number : 14 Question Id : 441009636573 Question Type : MCQ

FafaRad faggad ufkaemrst & 3 e Jafid Isal & Gafd BT aUT Hel He &1 9gd DI

fagga ularemT I
A. dRTQR 1.Hfi|?|=n‘§’
B. ©dUdhH 2. ﬂﬁmqgw
C. RRT 3. QW

D. [ddHICT 4. ISTYTH
Options :

4410092500435. # A-1,B-2,C-3,D-4
4410092500436. # A-2,B-3,C-4,D-1
4410092500437. ¥ A-2,B-1,C-4,D-3
4410092500438. ¥ A-2,B-1,C-3,D-4

Question Number : 15 Question Id : 441009626489 Question Type : MCQ

What was India’s official unemployment rate in July 2025, according to the latest PLFS data?
Options :

4410092460108. # 6.10%



4410092460109. ¥ 5.20%
4410092460110. # 7.10%
4410092460111. * 8.20%

Question Number : 15 Question Id : 441009626489 Question Type : MCQ

A PLFS 3fids! & SRR, JATS 2025 H YR B ABIRG sRISHIRY & &1
Options :

4410092460108. # 6.10%

4410092460109. ¥ 5.20%

4410092460110. # 7.10%

4410092460111. # 8.20%

Question Number : 16 Question Id : 441009510331 Question Type : MCQ
As of 31 May 2023, India’s per capita Net National Income (NNI) at constant (2011-12) prices increased
by .

Options :

4410091996482. ¥ 35.12%

4410091996483, * 40.12%

4410091996484, ¥ 0.4512

4410091996485. # 50.12%

Question Number : 16 Question Id : 441009510331 Question Type : MCQ

31 18 2023 7 UG SFBRI & SIIR, SUREd! (2011-12) HIHdI W HRd B Ufd safe FHad Tt
3T (NNI) H ¥ IS gl

Options :

4410091996482, ¢ 35.12%

4410091996483, ¥ 40.12%

4410091996484, ¥ 0.4512

4410091996485. ¥ 50.12%

Question Number : 17 Question Id : 441009610173 Question Type : MCQ

Which of the following given options highlights the correct meaning of the term 'Change in inventory'?
Options :

4410092395809. # Dead Inventory

4410092395810. ¥ Depreciation in Inventory

4410092395811. # Average Inventory

4410092395812. ¥ Inventory Investment

Question Number : 17 Question Id : 441009610173 Question Type : MCQ
frafeiea & @ H9-91 fawed gdet # uRad= ee &1 98t o gxifar 82
Options :

4410092395809. ¥ FfHT 39T (Dead Inventory)




4410092395810, # E’%—C’ﬂ | HeUgld (Depreciation in Inventory)
4410092395811, % 31 d gt (Average Inventory)
4410092395812. ¢ Q%Eﬂ o= (Inventory Investment)

Question Number : 18 Question Id : 441009510241 Question Type : MCQ

Which of the following best describes a key consequence of the Green Revolution launched in the mid-
1960s?

Options :

4410091996122. % Higher imports of cash crops
4410091996123. # Reduced use of fertilisers
4410091996124, ¥ A sharp rise in food-grain output
4410091996125. # A fall in mechanised cultivation

Question Number : 18 Question Id : 441009510241 Question Type : MCQ

frafeied & § HH-91 fawe, 1960 & T & Tel T = $1 s g Shifd o T TROTH 6
T 33T 9UH Bl 82

Options :

4410091996122, ¥ dHal HUA! BT YD AT

4410091996123, % I3 Bl HH IYTNT

4410091996124, ¢ WA IdTG H did Iig
4410091996125. ¥ Tigpd Wl H FR1GC

Question Number : 19 Question Id : 4410091116406 Question Type : MCQ

What is the name of the advanced non-invasive procedure used at Sir Ganga Ram Hospital in 2025 to
treat essential tremors?

Options :

4410094401516. # Transcranial Magnetic Stimulation (TMS)

4410094401517. ¥ Deep Brain Stimulation (DBS)

4410094401518. ¥ Magnetic Resonance-guided Focussed Ultrasound (MRgFUS)
4410094401519. # Gamma Knife Radiosurgery

Question Number : 19 Question Id : 4410091116406 Question Type : MCQ

TR T 1H 3RGATA H 2025 H TILIH HH (Essential Tremor) B IUAR o T8 STIRT H1 S dTeit
3ad ﬁ?-g_“laﬁl_d (non-invasive) Ui &1 919 & %?

Options :

4410094401516 % TS TAfT AR (TMS)

4410094401517. % S s e (DBS)

4410094401518, ¢ TARH WY ST HIHTS 3MCTSS (MRgFUS)
4410094401519, % TTHT AI3W ST Torl

Question Number : 20 Question Id : 441009630731 Question Type : MCQ



The Department of Biotechnology (DBT), Government of India, launched India’s first Biofoundry
Network in September 2025 in association with which of the following organisations?

Options :

4410092477071. ¥ National Centre for Biological Sciences (NCBS)
4410092477072. # Institute of Advanced Study in Science and Technology (IASST)
4410092477073. # CSIR-Institute of Genomics & Integrative Biology
4410092477074. ¢ Biotechnology Industry Research Assistance Council (BIRAC)

Question Number : 20 Question Id : 441009630731 Question Type : MCQ

HRJ WHR & FIcaIars [GHFT (DBT) = FafaRad # ¥ ford Wire & TganT 9 fRdex 2025 |
YR P Ugdll SAIBIS S Hede drd fhar

Options :

4410092477071, % AP Sifd faT b5 (NCBS)

4410092477072. ¥ I3 U9 TNt S9d 3100 TR (IASST)
4410092477073, % CSIR-SEIAC % SN U sfca Srdrst
4410092477074, ¥ Sd TIENTHT SN STHUT FeTadl URESG (BIRAC)

Question Number : 21 Question Id : 4410091242304 Question Type : MCQ

On 1 August 2025, ISRO launched a 10-day high-altitude isolation experiment in Ladakh at 14,000 feet.
This mission was conducted as part of preparations for which programme?

Options :

4410094902572. ¢ India’s Gaganyaan human spaceflight programme
4410094902573. # India’s Chandrayaan lunar exploration programme
4410094902574, ¥ India’s Aditya solar observation programme
4410094902575. # India’s AstroSat deep-space telescope programme

Question Number : 21 Question Id : 4410091242304 Question Type : MCQ

1 3T 2025 P, ISRO 7 TERE H 14,000 I B 3dTg W 10-CaT TT8-Tec IS SR T
I fohan| ug e oo srfed &1 daRt & dgd Jenferd foar mar ur

Options :

4410094902572 ¥ HRd &1 THHAM {4 {dRe I HRIHH (India’s Gaganyaan human spaceflight

programme)

4410094902573, % HRd &1 IS g AT HRIGH (India’s Chandrayaan lunar exploration
programme)

4410094902574, % HRA BT 3T TR 37e0T HRIHH (India’s Aditya solar observation programme)

4410094902575. % HRd Pl Q%;?I@IC Sy TARPIT HTdHH (India’s AstroSat deep-space telescope
programme)

Question Number : 22 Question Id : 441009630789 Question Type : MCQ

Who among the following was elected unopposed as the Chairman of the International Cricket Council
(ICC), effective 1 December 2024, and is the youngest person to lead the ICC?

Options :
4410092477303. ¥ Arun Singh Dhumal



4410092477304, ¥ Jay Shah
4410092477305. ¥ Ankur Khanna
4410092477306. ¥ Akshai Mansingh

Question Number : 22 Question Id : 441009630789 Question Type : MCQ

Fofeiad 7 3 frd 1 f3deR 2024 F SIRITH fobbe uRwE (1cC) & sieel & U § MRy g1
8, 3R G8 ICC BT Add HRA dTd Fey gaTl fad g2

Options :

4410092477303. ¥ 31301 g YA

4410092477304 ¢ 5 ATe

4410092477305, # 3P TAT

4410092477306, ¥ 31&T AMRIG

Question Number : 23 Question Id : 4410091116419 Question Type : MCQ

Kota Srinivasa Rao, who passed away in July 2025, was associated with which fields?
Options :

4410094401568. ¥ Agriculture and Farming

4410094401569. ¥ Cinema and Politics

4410094401570. # National Security and Judicial Services

4410094401571. ¥ Sports and Coaching

Question Number : 23 Question Id : 4410091116419 Question Type : MCQ
DicT ST Y@, fSF®T Jars 2025 T e 81 T, forg &7 9 9 42
Options :

4410094401568. ¥ BT 3R Wt

4410094401569, ¢ =T 3R IS

4410094401570, * TP FR&T 3R AT JaTd

4410094401571, % WY 3R rRrem

Question Number : 24 Question Id : 441009630216 Question Type : MCQ

What is the name of the unified platform for trade documentation and financing solutions announced in
the Union Budget of 2025-26?

Options :

4410092475011. ¥ BharatTradeNet
4410092475012. * BharatNet
4410092475013. ¥ Vyapar portal
4410092475014. # Bharat Transact

Question Number : 24 Question Id : 441009630216 Question Type : MCQ

2025-26 P ST Foic T DT ATUR Tera 3R fRIquyT FHTe & 1T Uehied H &1 =1 o1 82

Options :
4410092475011, ¥ HIRd a@ -IC (BharatTradeNet)



4410092475012. ¥ HRJAC (BharatNet)
4410092475013, % IR UICH (Vyapar portal)
4410092475014, % HRd E;laaf (Bharat Transact)

Question Number : 25 Question Id : 441009629876 Question Type : MCQ

What is the name of the scheme or mission that was announced in Union Budget 2025-26 to provide
digital-form Indian language books for school and higher education?

Options :

4410092473651. ¥ Bharatiya Bhasha Pustak Scheme
4410092473652. ¥ Gyan Bharatam Mission
4410092473653. ¥ Bharatiya Gyan Scheme
4410092473654. # India Knowledge Mission

Question Number : 25 Question Id : 441009629876 Question Type : MCQ

THl 3R I e & forg feforea = u & URdia yrwrsff &) gad Suds dH /g Sl Joic
2025-26 B TNAT o1 a1 = &7 19 1 82

Options :

4410092473651, ¥ URATT HTNT J&eh TSI
4410092473652. % M URIH =M
4410092473653, % HRAG 9 o1
4410092473654, % SfearAres f=E

Question Number : 26 Question Id : 441009629540 Question Type : MCQ

On 7 January 2025, the portal, developed by the Central Bureau of Investigation
(CBI), was officially launched by the Union Home Minister and Minister of Co-operation, Amit Shah.

Options :

4410092472307. ¥ INVESTIGATIONPOL
4410092472308. ¥ BHARATPOL
4410092472309. ¥ POLICEPOL
4410092472310. ¥ CRIMEPOL

Question Number : 26 Question Id : 441009629540 Question Type : MCQ

7 SFERY 2025 B, HAIT S SIRT (CBI) §RT fadwiia OIcd &1 e g Tt 3R
TehTar 1At 3ifid 2me gRT MRS TR W Al far 7/ Ut

Options :

4410092472307. ¥ INVESTIGATIONPOL
4410092472308. ¥ BHARATPOL
4410092472309. ¥ POLICEPOL
4410092472310. ¥ CRIMEPOL

Question Number : 27 Question Id : 4410091116438 Question Type : MCQ



Which landmark document, aiming to foster a drug-free youth movement across India, was adopted at
the Youth Spiritual Summit in Varanasi in July 2025?

Options :

4410094401644. ¥ Kargil Declaration
4410094401645. ¥ Kashi Declaration
4410094401646. # Ganga Declaration
4410094401647. % Viksit Bharat Declaration

Question Number : 27 Question Id : 4410091116438 Question Type : MCQ

TS 2025 H GRIURT T gU a1 SeATfdrs RReR G8e H, I8 YRd H =1 Gad gaT 3iaie o
FGIA1 & & I U DIH-T CAgTRIG GXATAS ST 1

Options :

4410094401644, % DHRIAT TN
4410094401645, ¢ BT TIwON

4410094401646. ¥ T GO
4410094401647, # faRId YR Tyon

Question Number : 28 Question Id : 4410091116455 Question Type : MCQ

Which of the following initiatives was launched by Delhi Police in April 2025 to prevent harassment of
women and ensure their safety in public spaces?

Options :

4410094401712. % Rakshak Patrol
4410094401713. ¥ Shishtachar Squads
4410094401714. % Mabhila Suraksha Abhiyan
4410094401715. ¥ Saheli Watch

Question Number : 28 Question Id : 4410091116455 Question Type : MCQ

afgarsti & qY 8- ard dﬂlSﬂﬁ{lmd 3R Frduifies R TR I JRa AT B & frw
fEcet gfer gIRT 3itid 2025 H, HIH- Ugd & 1 7S o7

Options :

4410094401712, % &P ﬂ?ﬁﬁ (Rakshak Patrol)

4410094401713, ¢ RIVHIR W18 (Shishtachar Squads)
4410094401714, ¥ Hfgel Rl SR (Mabhila Suraksha Abhiyan)
4410094401715. ¥ Tgal did (Saheli Watch)

Question Number : 29 Question Id : 441009636607 Question Type : MCQ

Why is weaving in India described as highly decentralised compared to spinning?

Options :

4410092500571. ¥ Because weaving allows incorporation of regional traditional skills and designs
4410092500572. # Because weaving requires more raw cotton cultivation

4410092500573. ¥ Because colonial rulers restricted weaving to rural households

4410092500574. ¥ Because weaving always needs imported machinery



Question Number : 29 Question Id : 441009636607 Question Type : MCQ
HRA H TS P HaTs S qaq | Srafees 3o fa Ff admar A g2

Options :

4410092500571. ¢ T TTs AT URURS DI AR fSOTSA! B A HRA B! Jfae it 8
4410092500572. % FIfb §TS & ol 31 Fed HUN DI Wil B SMAIHAT Blell §
4410092500573, * i SUMATRIE UATID! A TS BT AT ORI b T T T
4410092500574, * Ifds TS o fTT W AT ARAFRY BT STIRISHAT 81! §

Question Number : 30 Question Id : 441009637110 Question Type : MCQ
When are Kharif crops sown and harvested in India?

Options :

4410092502583. #* Sown in winter, harvested in summer

4410092502584. % Sown in summer, harvested in winter

4410092502585. ¥ Sown in monsoon, harvested in autumn

4410092502586. * Sown in autumn, harvested in winter

Question Number : 30 Question Id : 441009637110 Question Type : MCQ
YR H TRI% Bl HIA B a1g 3R BT STt 82

Options :

4410092502583, % fiaHq H a8 Sl €, Yerssg H BT 9Tt §
4410092502584, % TSI T &I ofcll €, Makg H HIet S &
4410092502585. ¢ U H &I 1Tl §, TREHG H HICT Sl &
4410092502586 % YRGB A 18 Sl 7, AaBg A ST o1t §

Arithmetic and Mental Ability and Reasoning

Section Id : 4410091011427
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 30

Number of Questions to be attempted : 30

Maximum Instruction Time : 0

Sub-Section Number : 1

Sub-Section Id : 4410091015275
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 441009539671 Question Type : MCQ

In what ratio must a grocer mix two varieties of rice costing 3232 and X116 per kg, respectively, to get a
mixture of rice worth X196 per kg?

Options :
4410092114080. ¥ 20 : 9



4410092114081. # 21: 11
4410092114082. # 24 :13
4410092114083. # 25:19

Question Number : 31 Question Id : 441009539671 Question Type : MCQ

TS TR &I HHRT: 1232 3R 2116 U kg Tod a1 1G9 $i &l fbed! o oo Srgard & firamn
MR, difds 2196 Ufdl kg T a1l AT YT §1?

Options :

4410092114080. ¥ 20 : 9
4410092114081. # 21 : 11
4410092114082. * 24 :13
4410092114083. # 25:19

Question Number : 32 Question Id : 441009544276 Question Type : MCQ

Sapna invested 320,100 on simple interest, partly at 6% per annum and partly at 3% per annum. If she
earns equal interests from the two investments after 4 years, find the sum invested at 6% per annum (in
3).

Options :

4410092132500. ¥ 6,700

4410092132501. # 6,698

4410092132502. # 6,701

4410092132503. # 6,699

Question Number : 32 Question Id : 441009544276 Question Type : MCQ

AT = 220,100 T T $© YRR 6% MNP ATYRUN TS Bt &R A TUT AY YARTIRT 3% T TR
TS B R I AT 1| Tfe 4 9 & a1, 98 1 A A FAM & 3ifold Bt 8, O 6% aiitfes
HIYRU TS Dt &R § AR &1 718 4RI (2 H) 1 Sifoe|

Options :

4410092132500. ¥ 6,700
4410092132501. # 6,698
4410092132502. % 6,701
4410092132503. # 6,699

Question Number : 33 Question Id : 441009540765 Question Type : MCQ

If the interest on a sum of Iy at 10% per annum compounded annually for 2 years is ¥945, then the total
amount payable at the end of the two-year period will be

Options :

4410092118456. ¥ %5,445
4410092118457. # %5,005
4410092118458. % 35,163
4410092118459. # %5,725

Question Number : 33 Question Id : 441009540765 Question Type : MCQ



g 2y B YRR R I FU I JIIOI g aTdt 10% TS &R § 2 Y BT achqgfa SISl 3945 §,
0 & ad B A & 3fd H < P YRIRT J1d PifoTg|

Options :

4410092118456. ¥ 35,445
4410092118457. % 5,005
4410092118458. % 35,163
4410092118459. # %5,725

Question Number : 34 Question Id : 441009895739 Question Type : MCQ

A camp has provisions for 41 pupils for 30 days. In how many days will the same provisions get
exhausted if the strength of the camp is increased to 82 pupils?

Options :

4410093537026. ¥ 15
4410093537027. % 16
4410093537028. * 14
4410093537029. # 18

Question Number : 34 Question Id : 441009895739 Question Type : MCQ

uw RIfaR 7 41 faenffat & forg 30 A1 9o o) wrg-anmh Suas 7| afe Rifar & faenfial o T
TGIHR 82 PR ol ST, Al Id-1 of WF-TTHUT febaq feA! H AT 81 SIrEeie?

Options :

4410093537026. ¥ 15

4410093537027. # 16

4410093537028. * 14

4410093537029. # 18

Question Number : 35 Question Id : 441009575947 Question Type : MCQ

1 5 4
Thevaluenfé—l—é—l—ﬁ—ké— 1 =
Options :

7

4410092258908. ¢ 16

4410092258909, # 16

4410092258910, % 16

4410092258911, % 16



Question Number : 35 Question Id : 441009575947 Question Type : MCQ

fafafad o1 9 319 ST

4+l+5+-’-1- .
8 8 16 8
Options :

7

4410092258908, ¢ 16

4410092258909, ¥ 16

4410092258910, % 16

4410092258911, % 16

Question Number : 36 Question Id : 441009576168 Question Type : MCQ

V2744 3 64— 9
X X =

V1296 42

Options :

4410092259792. ¥ 14
4410092259793, ¥ 9
4410092259794. ¥ &

4410092259795. ¥ 94

Question Number : 36 Question Id : 441009576168 Question Type : MCQ

V2744 3 a4
X X
V1296 42

Options :
4410092259792. ¥ 1 4
4410092259793. ¥ 77
4410092259794. * ¢
4410092259795. ¥ 94

P1 A J1d BT



Question Number : 37 Question Id : 441009854309 Question Type : MCQ

A man receives 35,900 per month as salary. He saves 45% of his salary every month. His expenditure per
month is:

Options :

4410093370208. ¥ 3,245
4410093370209. * 33,339
4410093370210. ¥ 3,292
4410093370211. # 33,248

Question Number : 37 Question Id : 441009854309 Question Type : MCQ

TS fad B da- & &4 H Ufd A8 25,900 fed € | 98 UAP HIE (U I BT 45% TId AT g |
391 Ufd {18 T J1d BT |

Options :

4410093370208. ¥ %3,245
4410093370209. # %3,339
4410093370210. # 3,292
4410093370211. # 3,248

Question Number : 38 Question Id : 441009537703 Question Type : MCQ

Arvind bought an article for ¥x. He sold it to Biru at a loss of 20%. Biru spent X101 on its transportation
and sold it to Minu at a profit of 40%. If Minu bought it for ¥1,631, what is the value of x?

Options :

4410092106208. ¥ 1,330
4410092106209. * 1,318
4410092106210. # 1,372
4410092106211. # 1,320

Question Number : 38 Question Id : 441009537703 Question Type : MCQ

3RfdE A Uh a¥q 2x H TRGT 1 39 3 20% D1 I W I Dl 94 {011 dx = 39b URagd R
2101 T fT SR T/ 40% & T R W &1 o foam| afe Mg 38 21,631 H@T 8, A x HTAA
RIS

Options :

4410092106208. ¥ 1,330
4410092106209. # 1,318
4410092106210. ¥ 1,372
4410092106211. #* 1,320

Question Number : 39 Question Id : 441009566519 Question Type : MCQ

A shopkeeper fixes the marked price of an item 175% above its cost price. What percentage of discount
on the marked price should be allowed to gain 153%?

Options :
4410092221196. ¥ 8%
4410092221197. % 11%



4410092221198. # 5%
4410092221199. # 10%

Question Number : 39 Question Id : 441009566519 Question Type : MCQ

TP gHMCR [hdl ax] BT 3ifthd Tou SUD 6 o ¥ 175% e Mufid exar g1 153% w1 amy
3{foTd HA & fore sifdrd T W fova wia=d 1 ge & ST a1few?

Options :

4410092221196. ¥ 8%
4410092221197. ® 11%
4410092221198. # 5%
4410092221199. # 10%

Question Number : 40 Question Id : 441009548815 Question Type : MCQ

If x is inversely proportional to y, and y = 10 when x = 6, find the value of x when y = 2.
Options :

4410092150656. ¥ 30

4410092150657 # 24

4410092150658. ¥ 29

4410092150659. # 28

Question Number : 40 Question Id : 441009548815 Question Type : MCQ

e x, y P GPHURT 8§ U x =6 BH Wy =108, Ay = 2 B W x BT A J1d BT

Options :

4410092150656. ¥ 30
4410092150657. % 24
4410092150658. # 29
4410092150659. # 28

Question Number : 41 Question Id : 441009899017 Question Type : MCQ

When x is added to each of 14, 18, 28 and 39, the numbers so obtained, in this order, are in proportion.
Then, if 8x :y 1y : 3x —9), and y > 0, what is the value of y?

Options :

4410093550138. « 36

4410093550139. % 42

4410093550140. * 24

4410093550141. # 51

Question Number : 41 Question Id : 441009899017 Question Type : MCQ

T 14, 18, 28 3R 39 TV TS H x SIST ST 8, A 39 HH A U TS JHuTd H gt o | b,
ZI‘%Sx:y my:(3x—9), @Ty>0%,?ﬁyﬁﬂﬁ$‘lﬁml

Options :

4410093550138. ¢ 36




4410093550139. # 42
4410093550140. ¥ 24
4410093550141. # 51

Question Number : 42 Question Id : 441009623604 Question Type : MCQ

A can complete a piece of work in 27 days and B can complete it in 16 days. If they work on alternate
days, starting with B on the first day, in how many days will the work be finished?

Options :

2
20—
4410092448548, « 27

2
21—
4410092448549, % 27

4410092448550. ¥ 51
4410092448551. ¥ 4

Question Number : 42 Question Id : 441009623604 Question Type : MCQ

AfEf ord ot 27 G & Q1 % Taar 8 8RB I BRI B 16 o f 1 R Aha1 |1 Tf 3 Uga
3 B T RE3HTT TP THTR &1 IR BT X 7, ) BT fa- a1 H THI g ST

Options :

2
20—
4410092448548, ¢ 27

2
21—
4410092448549, % 27

4410092448550. ¥ 57
4410092448551, % 4

Question Number : 43 Question Id : 441009538449 Question Type : MCQ

On a circular path of 2662 m, Nisha and Manisha start walking from the same point but in the opposite
directions at the speed of 5.1 m/s and X m/sec, respectively. They will meet for the first time after 242
seconds. Find the value of X.

Options :

4410092109192. # 6.3
4410092109193. # 5.7
4410092109194. % 6.1
4410092109195. ¢ 5.9

Question Number : 43 Question Id : 441009538449 Question Type : MCQ



2662 m & U TR TY TR, FI=IT SR 7w U g1 foig 9 aifep famsia femait & Han: 5.1 m/s 3R
X m/sec B AT Y TG L= BT 6 |1 9 242 &S SI€ Ugal! IR Al | X BT HH J1d DI

Options :

4410092109192. ® 6.3
4410092109193. # 5.7
4410092109194. # 6.1
4410092109195. ¥ 5.9

Question Number : 44 Question Id : 441009594026 Question Type : MCQ
The volume (in m3) of a cube, each of whose edges is 33 m, is:

Options :

4410092331221. ¥ 35,937

4410092331222. % 36,024

4410092331223. # 35911

4410092331224, % 35,960

Question Number : 44 Question Id : 441009594026 Question Type : MCQ
TS Y9 &1 3 (m? H) fa=1 8, 59 Ud® SR &1 TS 33 m 82
Options :

4410092331221, ¥ 35,937

4410092331222. % 36,024

4410092331223. ¥ 35,911

4410092331224. # 35,960

Question Number : 45 Question Id : 441009592884 Question Type : MCQ

A solid metallic sphere of radius 14 cm is melted and then recast into small solid cones each of diameter
7 cm and height 2 cm. What is the number of cones thus formed?

Options :

4410092326653, # 484
4410092326654. % 540
4410092326655. % 349
4410092326656. ¥ 448

Question Number : 45 Question Id : 441009592884 Question Type : MCQ

14 om 501 910 TH 31 1 & 1A &1 FURATHR 7 om TN 3R 2 em Sa18 9T BIC 319 P T
ST 81 $9 UHR S aTal Q31 o ST o1t g2

Options :

4410092326653, ¥ 484

4410092326654, * 540

4410092326655. ¥ 349

4410092326656. ¥ 448




Question Number : 46 Question Id : 441009755886 Question Type : MCQ

F, G, H, I, J, K and L are sitting around a circular table, facing the centre. F sits third to the left of J. H
sits immediately to the left of J. L sits third to the right of H. I sits immediately to the right of L. H is not
an immediate neighbour of G. The position(s) of how many people will remain unchanged if all the
people are arranged in the English alphabetical order in the clockwise direction starting from F (including
F)?

Options :

4410092977537. % One

4410092977538. ¥ Two

4410092977539. #* Three

4410092977540. # Four

Question Number : 46 Question Id : 441009755886 Question Type : MCQ

E, G, H, 1, J, K 3R L TP e A & URA: ITP $g B 3R AT GIPR 3 T 1 F, J P I1S 3R dR
R RIGIEIH, P IE IR SF IS HISIZI L, HP SR IR AR YA RIS G I, LP TS
3R 31 TSI H 931 8| H, G FT Advedd USKi 181 o | afe wt safdad &1 F (F Ifgd) ¥ & HRd
‘g'qa’f\&rﬂﬂag?ﬁ&fﬂﬁ&iﬁﬁﬁqtﬁl—lml ST & UR Fafeyd forar S, < fea- safeaal o fufa
Sufafda 9

Options :
4410092977537. ¥ Udh
4410092977538. ¢ &1
4410092977539. # dH
4410092977540. ¥ IR

Question Number : 47 Question Id : 441009778981 Question Type : MCQ

Lovi ranked 17™ from the bottom and 93" from the top in his class. How many students are there in his
class?

Options :

4410093069927. #* 111
4410093069928. #* 110
4410093069929. ¢ 109
4410093069930. * 108

Question Number : 47 Question Id : 441009778981 Question Type : MCQ

At T FET H T T 177 IR AV 039 WA R 3| IS Ha A frem ot e &
Options :

4410093069927. * 111

4410093069928. * 110

4410093069929. ¥ 109

4410093069930. # 108

Question Number : 48 Question Id : 441009817618 Question Type : MCQ

Refer to the following number, symbol series and answer the question that follows. Counting to be done
from left to right only. (All numbers are single-digit numbers only.)



(Left) 3 8 @ # 7 12S$ % 9 & 1 0 * ~ (Right)

How many such symbols are there, each of which is immediately preceded by a number and also
immediately followed by another number?

Options :

4410093224595. * None
4410093224596. ® One
4410093224597. ¥ Two
4410093224598. * More than two

Question Number : 48 Question Id : 441009817618 Question Type : MCQ

Frafafad e, udte S@ar &1 g o 9uT fou 7T Uy &1 IR Siforg | i Fwaa amg 3 g
DI S B | (@ TS o9 U dl- 31 T § 1)

@) 38 @# 7!28%$ %9 &10*~ (W)
T T Ul 8, T ¥ U@ & 31 Ugdl U A1 § IR 31 §1g 8 Uab 3 U1 57

Options :

4410093224595, ¥ T i 7gT
4410093224596, % TH
4410093224597, ¢ &Y
4410093224598, # I Y 3ffIH

Question Number : 49 Question Id : 441009765330 Question Type : MCQ
This question is based on the five, three-digit numbers given below.

(Left) 893 839 826 576 574 (Right)

(Example: 697 — First digit = 6, second digit = 9 and third digit = 7)
(NOTE: All operations to be done from left to right.)

What will be the resultant if the second digit of the highest number is added to the second digit of the
lowest number?

Options :

4410093015313. # 14
4410093015314. #* 15
4410093015315. ¥ 16
4410093015316. * 18

Question Number : 49 Question Id : 441009765330 Question Type : MCQ
T Uy -1 < 718 utg, dH-siwig Teamel wR e g

(STT) 893 839 826 576 574 (AT)

(ICTERUL: 697 - TG 3T = 6, TAR 3 = 9 3R IR 3fa = 7)
(e gt Sfosame S A g B S 8 )



e Terl TSI TBAT & G 3{h bl Yo BICT TBAT P g 3ich | WIS fear S, o aRums o1 ghm?
Options :

4410093015313. % 14

4410093015314. * 15

4410093015315. ¥ 16

4410093015316. # 18

Question Number : 50 Question Id : 441009760189 Question Type : MCQ

In a certain code language,

A % B means ‘A is the daughter of B’,
A =B means ‘A is the wife of B’,

A ¥ B means ‘A is the father of B’ and
A # B means ‘A is the brother of B’.

How is Trelatedto Oif T=E#M¥P % O'?
Options :

4410092994749. ¥ Husband's brother's wife
4410092994750. # Brother's wife's sister
4410092994751. ¥ Wife's sister's son
4410092994752. # Wife's sister's daughter

Question Number : 50 Question Id : 441009760189 Question Type : MCQ
Ueh fAf3d He urwT

A%B®HTAHIGfF A, BRI T E,

A=BHIIIRIH ‘A, BIHIUA T,
A¥BHTIIETFH A, BT R 3R
A#B®HT I A, BHTUE B

I T=E#M¥P%0 &, dl TH O T T &Y 37
Options :

4410092994749, ¢ T & HTE BI Tt
4410092994750, % HTS P Tell P} dg
4410092994751. % Ul &l §g-1 DI G
4410092994752, % Udl &I dg4 B T3l

Question Number : 51 Question Id : 441009762659 Question Type : MCQ

In a certain code language, ‘week light gum’ is coded as ‘uu bd hj” and ‘light apple law’ is coded as ‘dx
he bd’. How is ‘light’ coded in that language?

Options :

4410093004629. ¥ bd
4410093004630. # uu
4410093004631. # h;
4410093004632, # dx



Question Number : 51 Question Id : 441009762659 Question Type : MCQ

UH fAfd B U H, ‘week light gum’ T ‘uu bd hj? & U H Feag [HaT AT § 3R “light apple
law’ BT ‘dx he bd’ & TU T Hax (BT STl g | T 718 HTHT H, light” P! fhd U H deas fhar
ST

Options :

4410093004629. ¥ bd

4410093004630. ¥ uu

4410093004631, ¥ h;j

4410093004632. * dx

Question Number : 52 Question Id : 441009765646 Question Type : MCQ

JX 21 is related to MR 9 in a certain way. In the same way, OL 9 is related to RF —3. To which of the
given options is LP 2 related, following the same logic?

Options :

4410093016577. * LP -8

4410093016578. % HU —5
4410093016579. * PT -3

4410093016580. ¥ OJ —10

Question Number : 52 Question Id : 441009765646 Question Type : MCQ

T Afd a T X 21 BT HEY MR 9 T 81 3 UBR, OL 9 BT I RF -3 T & | A b BT
3IIERUI F’d §U, LP 2 HT Ay, 3T 7Y faswent & 9 frad g2

Options :

4410093016577, ¥ LP -8

4410093016578, ® HU —5

4410093016579. # PT -3

4410093016580. ¢ OJ —10

Question Number : 53 Question Id : 441009743795 Question Type : MCQ

Select the pair which follows the same pattern as that followed by the two pairs given below. Both pairs
follow the same pattern.

FHK-MOR
KMP-RTW

Options :

4410092928936. ¥ XZC—-EGJ
4410092928937. # XZC-DGI
4410092928938. #* XYA—-EGJ
4410092928939. ¥ XYA-DFI

Question Number : 53 Question Id : 441009743795 Question Type : MCQ
wwmaugaﬁﬁn@ﬁ%%qw@%wﬁﬁwmm% G g QA UeH &
STIRU AR B |



FHK-MOR
KMP—-RTW

Options :

4410092928936. ¥ XZC—-EGIJ
4410092928937. # XZC-DGI
4410092928938. # XYA-EGJ
4410092928939. * XYA-DFI

Question Number : 54 Question Id : 441009760099 Question Type : MCQ

Based on the English alphabetical order, three of the following four letter-clusters are alike in a certain
way and thus form a group. Which letter-cluster DOES NOT belong to that group?

(Note: The odd one out is not based on the number of consonants/vowels or their position in the letter-
cluster.)

Options :

4410092994389. # HID
4410092994390. # KLG
4410092994391. # OPK
4410092994392, ¥ PST

Question Number : 54 Question Id : 441009760099 Question Type : MCQ

SISt quiHTe 8 & YR IR, FEfafed IR sieR-Tgi 8 ¥ fiF U Fid @bie ¥ teaaH ¢ 8k
wwéwwm%|ﬁqwa{mﬂqgwgqﬁﬂaﬁaﬁ%v

([le: SR 31eR-THE, ITH o1/ DI WA 1 37! fUfT TR 3menfRd Tl g 1)

Options :

4410092994389. ¥ HID
4410092994390. ¥ KLG
4410092994391. * OPK
4410092994392. ¢ PST

Question Number : 55 Question Id : 441009754763 Question Type : MCQ

Based on the English alphabetical order, three of the following four letter-clusters are alike in a certain
way and thus form a group. Which letter-cluster DOES NOT belong to that group?

(Note: The odd one out is not based on the number of consonants/vowels or their position in the letter-
cluster.)

Options :

4410092973045. % UX-ZC
4410092973046. * FI-KN

4410092973047. ¥ QU-VY
4410092973048. * CF-HK

Question Number : 55 Question Id : 441009754763 Question Type : MCQ

3{IST quiHTe 8 & SMYR IR, FEfafad IR sieR-T1g gl & 9 & T fYd id 3 THaaH g
ﬁ?wwéwmm%lﬁqm&rmwwwmﬁwﬁmqﬁ%

(Are: ST 3HeR-THE T, ST Ho1/aR! ! TReT 1 It fUfd R anenfa & ] 1)




Options :

4410092973045. ¥ UX-ZC
4410092973046. ¥ FI-KN

4410092973047. ¢ QU-VY
4410092973048. ¥ CF-HK

Question Number : 56 Question Id : 441009759370 Question Type : MCQ

What should come in place of the question mark (?) in the given series based on the English alphabetical
order?

GPN HQO IRP JSQ ?

Options :

4410092991473. ¢ KTR
4410092991474, ¥ KML
4410092991475. ¥ KUH
4410092991476. ¥ KNK

Question Number : 56 Question Id : 441009759370 Question Type : MCQ

3Tt JUIATAT U & SMUYR WR, <1 T8 SRael & Uy-RIg () & I IR &1 {1 =1fgu?

GPN HQO IRP JSQ ?
Options :

4410092991473. ¢ KTR
4410092991474, % KML
4410092991475. ¥ KUH
4410092991476. ¥ KNK

Question Number : 57 Question Id : 441009754798 Question Type : MCQ
What should come in place of (?) in the given series based on the English alphabetical order?

MPR NQS ORT PSU ?
Options :

4410092973185. ¢ QTV
4410092973186. ¥ QTU
4410092973187. # QSV
4410092973188. ¥ QSU

Question Number : 57 Question Id : 441009754798 Question Type : MCQ

3ol JUMHTE o1 & SMUR TR, & 718 4Rael | () & RIM TR T AT W2

MPR NQS ORT PSU ?
Options :
4410092973185. ¢ QTV



4410092973186. ¥ QTU
4410092973187. ¥ QSV
4410092973188. ¥ QSU

Question Number : 58 Question Id : 441009864670 Question Type : MCQ
Select the option in which the given figure is embedded (rotation is NOT allowed).

X

Options :

4410093411780. ¢ | I

4410093411781. #

A

4410093411782, # w

L .

4410093411783, #

Question Number : 58 Question Id : 441009864670 Question Type : MCQ
39 faseq o1 9o Pifow, e < 718 enepfar siafifed ® (gui= &t srAfa T8t @)1

Options :




4410093411780, ¢ | |

4410093411781, %

A

4410093411782. % w

L,

4410093411783, #

Question Number : 59 Question Id : 441009985053 Question Type : MCQ

If ‘A’ stands for ‘+’, ‘B’ stands for ‘x’, ‘C’ stands for ‘+’ and ‘D’ stands for ‘—‘, what will come in place
of the question mark ‘?’ in the following equation?
3 B3D4A2C2=?

Options :

4410093892618. # 8
4410093892619. ¥ 9
4410093892620. # 10
4410093892621. # 11

Question Number : 59 Question Id : 441009985053 Question Type : MCQ

gfe At d =g, BT x®, P13 <+ § 3R D w1 34— B, N FRufarfaa giieor &

Y% (2) & I IR 1 3T
3 B3 D4A2C2=?
Options :

4410093892618. # 8
4410093892619. ¢ 9



4410093892620. * 10
4410093892621. #* 11

Question Number : 60 Question Id : 441009978002 Question Type : MCQ

What should come in place of the question mark (?) in the given series?
7 17 27 37 47 ?

Options :

4410093864714. * 67
4410093864715. * 76
4410093864716. ¥ 57
4410093864717. #* 75

Question Number : 60 Question Id : 441009978002 Question Type : MCQ
TS SR H Uy (2) & RIF W T T

7 17 27 37 47 ?

Options :

4410093864714. * 67

4410093864715. # 76

4410093864716. ¥ 57

4410093864717. % 75

General English
Section Id : 4410091011428
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 8
Number of Questions to be attempted : 8
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 4410091015276
Question Shuffling Allowed : Yes

Question Id : 441009176837 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: No Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (61 to 63)
Read the given passage and answer the questions that follow.

Subhas Chandra Bose’s life ended under mysterious circumstances. Following Japan’s surrender in
August 1945, he attempted to flee Southeast Asia but reportedly died from burn injuries after a plane
crash in present-day Taiwan. His death, however, remains a subject of intense speculation and conspiracy
theories. Bose’s ashes are believed to be enshrined at the Renkdji temple in Tokyo. His radical vision,
charismatic leadership, and undying commitment to India’s independence continue to inspire generations.
January 23, his birth anniversary, is celebrated in India as Parakram Diwas, or “Day of Valour”. Despite
controversy over his wartime alliances with Nazi Germany and Imperial Japan, Bose is widely respected



for his patriotism and determination. He is honoured in numerous books, films and memorials across the
country.

Many view him as one of India’s greatest revolutionaries, particularly among the Bengali community. His
famous call—“Give me blood, and I promise you freedom”—remains etched in the annals of India’s
freedom movement. Though he did not live to see India’s independence, his contributions helped shape
the nation’s journey. His legacy continues to provoke debate, admiration and reverence within India’s
historical consciousness.

Sub questions

Question Number : 61 Question Id : 441009176838 Question Type : MCQ
Where did Bose reportedly breathe his last?

Options :

441009699249. # During a mission to the Middle East

441009699250. ¥ In a hospital after a plane accident

441009699251. ¥ While climbing the Himalayas alone

441009699252. # At a peace conference in Tokyo

Question Number : 62 Question Id : 441009176839 Question Type : MCQ

What is an ongoing outcome related to Subhas Chandra Bose’s reported death?
Options :

441009699253. # It inspires memorials in small towns throughout wartime Germany.
441009699254, ¢ 1t continues to spark active debates about its historical accuracy.
441009699255. # It is mostly ignored by present-day historians and researchers.

441009699256. # It reveals new information on war crimes committed during that time.

Question Number : 63 Question Id : 441009176840 Question Type : MCQ

Why is Parakram Diwas observed?

Options :

441009699257. # To promote reflective meditation among the citizens of the world
441009699258. # To launch new army enlistment campaigns

441009699259. ¥ To commemorate Subhas Chandra Bose’s birth and his contributions to India’s
freedom struggle

441009699260. # To organise athletic contests in all schools and colleges

Question Id : 441009176837 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: No Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (61 to 63)
Read the given passage and answer the questions that follow.

Subhas Chandra Bose’s life ended under mysterious circumstances. Following Japan’s surrender in
August 1945, he attempted to flee Southeast Asia but reportedly died from burn injuries after a plane
crash in present-day Taiwan. His death, however, remains a subject of intense speculation and conspiracy
theories. Bose’s ashes are believed to be enshrined at the Renkdji temple in Tokyo. His radical vision,
charismatic leadership, and undying commitment to India’s independence continue to inspire generations.
January 23, his birth anniversary, is celebrated in India as Parakram Diwas, or “Day of Valour”. Despite
controversy over his wartime alliances with Nazi Germany and Imperial Japan, Bose is widely respected
for his patriotism and determination. He is honoured in numerous books, films and memorials across the



country.

Many view him as one of India’s greatest revolutionaries, particularly among the Bengali community. His
famous call—"“Give me blood, and I promise you freedom”—remains etched in the annals of India’s
freedom movement. Though he did not live to see India’s independence, his contributions helped shape
the nation’s journey. His legacy continues to provoke debate, admiration and reverence within India’s
historical consciousness.

Sub questions

Question Number : 61 Question Id : 441009176838 Question Type : MCQ
Where did Bose reportedly breathe his last?

Options :

441009699249. # During a mission to the Middle East

441009699250. ¥ In a hospital after a plane accident

441009699251. # While climbing the Himalayas alone

441009699252. ¥ At a peace conference in Tokyo

Question Number : 62 Question Id : 441009176839 Question Type : MCQ

What is an ongoing outcome related to Subhas Chandra Bose’s reported death?
Options :

441009699253. # It inspires memorials in small towns throughout wartime Germany.
441009699254. " It continues to spark active debates about its historical accuracy.
441009699255. # It is mostly ignored by present-day historians and researchers.

441009699256. # It reveals new information on war crimes committed during that time.

Question Number : 63 Question Id : 441009176840 Question Type : MCQ

Why is Parakram Diwas observed?

Options :

441009699257. # To promote reflective meditation among the citizens of the world
441009699258. # To launch new army enlistment campaigns

441009699259. ¥ To commemorate Subhas Chandra Bose’s birth and his contributions to India’s
freedom struggle

441009699260. # To organise athletic contests in all schools and colleges

Sub-Section Number : 2
Sub-Section Id : 4410091015277
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 441009611608 Question Type : MCQ
Select the most appropriate option to fill in the blank.

was [ who made this drawing.
Options :
4410092401553. # That
4410092401554. # This
4410092401555. ¥ 1t
4410092401556. # There



Question Number : 64 Question Id : 441009611608 Question Type : MCQ
Select the most appropriate option to fill in the blank.

was I who made this drawing.
Options :
4410092401553. # That
4410092401554. # This
4410092401555. ¢ It
4410092401556. ¥ There

Question Number : 65 Question Id : 441009478664 Question Type : MCQ

Describe how you will tell your principal that the classroom will be cleaned by the students next week,
using active voice. Select the correct option.

Options :

4410091870005. ¥ The students will clean the classroom next week.
4410091870006. ¥ The students have cleaned the classroom next week.
4410091870007. # The students will have cleaned the classroom next week.
4410091870008. * The students cleaned the classroom next week.

Question Number : 65 Question Id : 441009478664 Question Type : MCQ

Describe how you will tell your principal that the classroom will be cleaned by the students next week,
using active voice. Select the correct option.

Options :

4410091870005. ¥ The students will clean the classroom next week.
4410091870006. ¥ The students have cleaned the classroom next week.
4410091870007. # The students will have cleaned the classroom next week.
4410091870008. * The students cleaned the classroom next week.

Question Number : 66 Question Id : 441009479449 Question Type : MCQ
Select the option that expresses the given sentence in passive voice.

The committee selected the winner of the essay competition.

Options :

4410091873145. ¢ The winner of the essay competition was selected by the committee.
4410091873146. ¥ The winner of the essay competition is selected by the committee.
4410091873147. ¥ The winner of the essay competition has been selected by the committee.
4410091873148. ¥ The committee was selecting the winner of the essay competition

Question Number : 66 Question Id : 441009479449 Question Type : MCQ
Select the option that expresses the given sentence in passive voice.

The committee selected the winner of the essay competition.
Options :



4410091873145. ¥ The winner of the essay competition was selected by the committee.
4410091873146. # The winner of the essay competition is selected by the committee.
4410091873147. # The winner of the essay competition has been selected by the committee.
4410091873148. * The committee was selecting the winner of the essay competition

Question Number : 67 Question Id : 441009183054 Question Type : MCQ
Select the INCORRECTLY spelt word.

Options :

441009723630. ¥ Accommodation

441009723631. # Occurrence

441009723632. ¥ Reccommend

441009723633. ¥ Embarrassment

Question Number : 67 Question Id : 441009183054 Question Type : MCQ
Select the INCORRECTLY spelt word.

Options :

441009723630. ¥ Accommodation

441009723631. ¥ Occurrence

441009723632. ¥ Reccommend

441009723633. # Embarrassment

Question Number : 68 Question Id : 441009131430 Question Type : MCQ
Select the most appropriate ANTONYM of the underlined word in the given sentence.

The manager tried to coerce his employees into working overtime by threatening to cut their bonuses.

Options :

441009522291. # Force
441009522292. % Stretch
441009522293. # Contract
441009522294 ¥ Permit

Question Number : 68 Question Id : 441009131430 Question Type : MCQ
Select the most appropriate ANTONYM of the underlined word in the given sentence.

The manager tried to coerce his employees into working overtime by threatening to cut their bonuses.

Options :

441009522291. * Force
441009522292. # Stretch
441009522293. # Contract
441009522294 ¢ Permit

Question Number : 69 Question Id : 4410091104010 Question Type : MCQ



Select the most appropriate proverb to fill in the blank.

Though you two have not been talking to each other for the past two years, — why don’t
you try calling her?

Options :

4410094353398. ¢ it is never too late to mend

4410094353399. # it is hard to sit in Rome and fight with the pope
4410094353400. # it is not the cowl that makes the monk
4410094353401. #* it is an ill wind that blows nobody good

Question Number : 69 Question Id : 4410091104010 Question Type : MCQ
Select the most appropriate proverb to fill in the blank.

Though you two have not been talking to each other for the past two years, —why don’t
you try calling her?

Options :

4410094353398. # it is never too late to mend

4410094353399. # it is hard to sit in Rome and fight with the pope
4410094353400. #* it is not the cowl that makes the monk
4410094353401. #* it is an ill wind that blows nobody good

Question Number : 70 Question Id : 441009182638 Question Type : MCQ

Sentences of a paragraph are given below. While the first and the last sentences (1 and 6) are in the
correct order, the sentences in between are jumbled up. Arrange the sentences in the correct order to form
a meaningful and coherent paragraph.

1. Urbanisation has transformed the way humans live and interact with their environment.
A. One major concern is the increasing levels of air and noise pollution.

B. Despite these advancements, rapid urban growth has also led to serious challenges.

C. Skyscrapers, public transport systems, and digital connectivity are now common features.
D. Cities are expanding at a fast pace, bringing in more opportunities for work and lifestyle
improvements.

6. Addressing these issues requires sustainable urban planning and community participation.

Options :

441009721955. ¥ ABCD
441009721956. # BCDA
441009721957. ¥ CDAB
441009721958. ¥ DCBA

Question Number : 70 Question Id : 441009182638 Question Type : MCQ

Sentences of a paragraph are given below. While the first and the last sentences (1 and 6) are in the
correct order, the sentences in between are jumbled up. Arrange the sentences in the correct order to form
a meaningful and coherent paragraph.

1. Urbanisation has transformed the way humans live and interact with their environment.
A. One major concern is the increasing levels of air and noise pollution.

B. Despite these advancements, rapid urban growth has also led to serious challenges.

C. Skyscrapers, public transport systems, and digital connectivity are now common features.
D. Cities are expanding at a fast pace, bringing in more opportunities for work and lifestyle



improvements.

6. Addressing these issues requires sustainable urban planning and community participation.
Options :

441009721955. % ABCD

441009721956. ¥ BCDA

441009721957. # CDAB

441009721958. ¥ DCBA

Science of Intermediate Level

Section Id : 4410091011429
Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 30

Number of Questions to be attempted : 30

Maximum Instruction Time : 0

Sub-Section Number : 1

Sub-Section Id : 4410091015278
Question Shuffling Allowed : Yes

Question Number : 71 Question Id : 441009994892 Question Type : MCQ
Which of the following will show maximum basicity in aqueous solution?
Options :

4410093931606. * (C,Hs5)3N

4410093931607. ¥ (C,Hs),NH

4410093931608. * C,HsNH,

4410093931609. * NH;

Question Number : 71 Question Id : 441009994892 Question Type : MCQ
fFofafed § ¥ o371, Sty e & siffiedr &RedT UeiRid e
Options :

4410093931606. * (C,Hs5)3N

4410093931607. ¥ (C,Hs),NH
4410093931608. ¥ C,HsNH,
4410093931609. ¥ NHj,

Question Number : 72 Question Id : 441009994867 Question Type : MCQ
What is the IUPAC name of the given compound?



CH3
Options :
4410093931510. ¥ 3-methylcyclopentanone
4410093931511. # 3-oxo-1-methylcyclopentane
4410093931512. # 4-metylyclopentanone
4410093931513. # 4-oxo-1-methylcyclopentane

Question Number : 72 Question Id : 441009994867 Question Type : MCQ

feu U At BT IUPAC TH RAT B2
O

CH3
Options :
4410093931510. ¢ 3-ﬂﬁﬂﬂlidﬂ-\lqe'-l\l'-l (3-methylcyclopentanone)
4410093931511, % 3-3TT1-1-ATITITSAU CH (3-oxo-1-methylcyclopentane)
4410093931512, # 4-ﬂfﬁc1{-llsdﬂ\lt\4?‘.-1\lﬂ (4-metylyclopentanone)
4410093931513, # 4-%—1-%61&50}@\“}34 (4-oxo-1-methylcyclopentane)

Question Number : 73 Question Id : 4410091028307 Question Type : MCQ
Which of the following second-period molecules has the maximum bond enthalpy?
Options :

4410094064826. ¥ O,

4410094064827. ¥ N,
4410094064828. # F,
4410094064829. ¥ B,

Question Number : 73 Question Id : 4410091028307 Question Type : MCQ
frafeiaa # 4 fedia smad o forg Srop H sifiieaw siey TR gid g2

Options :



4410094064826. ¥ O,
4410094064827. ¥ N,
4410094064828. ¥ F,
4410094064829. # B,

Question Number : 74 Question Id : 4410091041613 Question Type : MCQ
The mass of water formed when 8 g of methane reacts with excess of oxygen is
Options :

4410094115506. # 36 g

4410094115507. ¥ 18 g

4410094115508. # 9 ¢

4410094115509. ¥ 54 ¢

Question Number : 74 Question Id : 4410091041613 Question Type : MCQ

oTd 8 ¢ A SfaRe SieRfiSr & i b IRA g AT A TABIGIAN Bl gl
Options :

4410094115506 * 36 ¢

4410094115507. ¥ 18 g

4410094115508. % 9 g

441009411550 * 54 ¢

Question Number : 75 Question Id : 4410091028449 Question Type : MCQ
Which of the following statements is correct?

Options :

4410094065450. ¥ Order of a reaction can be zero but molecularity cannot be zero
4410094065451. ¥ Both order and molecularity of a reaction can be zero.
4410094065452. # Order of a reaction cannot be zero but molecularity can be zero.

4410094065453. ¥ Both order and molecularity of a reaction cannot be zero.

Question Number : 75 Question Id : 4410091028449 Question Type : MCQ
i Syl & 1991 HYT T8l 22
Options :

4410094065450. ¢ forgit ST 1 HIfS T 81 Ahel! § Afch MUadhal LA el 8l gt g |
4410094065451, % ot aiftifrar ot ife aur Snfigehdr GFT I 81 Al & |

4410094065452, % ot Sifforar @ ife I T8 81 Tabal! Afch- AU dT I 81 Tehall g |
4410094065453, % ot SHffopar o1 Hife aUT SNffadhdl GFI YT 181 8l gdhell 8|

Question Number : 76 Question Id : 4410091028533 Question Type : MCQ
The major problem in using detergents over soap is:

Options :

4410094065790. # cleansing action of detergent is slow



4410094065791. # detergents don’t lather in hard water
4410094065792. ¢ slow degradation of detergents
4410094065793. # detergent cleans in hot water only

Question Number : 76 Question Id : 4410091028533 Question Type : MCQ

G & R TR SUATSIS BT SUIAN HRA H TE G T8 6 [ |
Options :

4410094065790, ¥ 3(THATSIS Pt e fopar et gt 8
4410094065791, * 3(UHATSIP HSR S H INT 8] §-1d &
4410094065792, ¥ SUHTSIS 1 et 1y § Ao g e
4410094065793, # 3(UHTSIP Had TH T 7 g1 TTH BT 8

Question Number : 77 Question Id : 4410091028436 Question Type : MCQ
Non-biodegradable industrial waste is generated by which of the following industries?
Options :

4410094065390. # Textile industry

4410094065391. ¢ Iron and steel plant

4410094065392. ¥ Paper recycling industry

4410094065393. ¥ Cotton industry

Question Number : 77 Question Id : 4410091028436 Question Type : MCQ

TR-SafHieRuiy il sy Fufafad & 9 f5g e gRI ST gldT 82

Options :

4410094065390, % TXI IENT
4410094065391, ¢ TIE Td XTI T
4410094065392, % BT G AhUT IS
4410094065393, % HURT S

Question Number : 78 Question Id : 4410091041491 Question Type : MCQ
The element that resembles properties of both alkali metals and halogens?
Options :

4410094115050. ¥ Hydrogen

4410094115051. # Lithium

4410094115052. # Potassium

4410094115053. # Magnesium

Question Number : 78 Question Id : 4410091041491 Question Type : MCQ

Jg dcd ol &R Y13t 3R garo gl & T[0T & YHSY gl &, gl

Options :

4410094115050, ¢ BT SIoA

4410094115051, % STy



4410094115052, % TIclRIY
4410094115053, % TIifR/H

Question Number : 79 Question Id : 4410091041403 Question Type : MCQ
On what factor does molal depression constant (K¢) depend?

Options :

4410094114726. # Nature of solute
4410094114727. # Amount of solute
4410094114728. # Amount of solvent
4410094114729. ¥ Nature of solvent

Question Number : 79 Question Id : 4410091041403 Question Type : MCQ
Mad T RRI® (Kp) 5 RS R R Harg?

Options :

4410094114726. % faorg &1 upfd

4410094114727, % faora &1 AET

4410094114728. ¥ o ot A=

4410094114729, ¢ oI &1 Upfd

Question Number : 80 Question Id : 4410091041431 Question Type : MCQ
Where in the human body the majority of sodium and potassium ions are located?
Options :

4410094114838. # Both inside cells

4410094114839. # Both outside cells

4410094114840. ¥ Sodium outside cell, potassium inside cell

4410094114841. ¥ Potassium outside cell, sodium inside cell

Question Number : 80 Question Id : 4410091041431 Question Type : MCQ
g TRR § i Tifsay 3R MW g %ei 8ld |2

Options :

4410094114838, % Tl HIRIBISH b AR

4410094114839. % Tl DHIRIBISH & dTER

4410094114840, ¥ T STH HIAHT & TMER, N RAH HIRBT & 3R
4410094114841, % TICTRIH HIRBT H TR, NSTH HIRABT & 37aR

Question Number : 81 Question Id : 4410091038183 Question Type : MCQ

Which of the following processes is involved in the development of a plant from a seed to a mature
plant?

Options :
4410094103195. ¥ Fermentation
4410094103196. ¥ Germination



4410094103197. ¥ Respiration
4410094103198. # Decomposition

Question Number : 81 Question Id : 4410091038183 Question Type : MCQ
foreht S ¥ uRUe UIey a7 &1 fad ufshan o1 g 62

Options :

4410094103195, ¥ fobuaa
4410094103196 ¥ 3{PpUT
4410094103197 % g
4410094103198, % 3{UTc

Question Number : 82 Question Id : 4410091047567 Question Type : MCQ

Which of the following is the correct sequence of steps in biological nitrogen fixation by Rhizobium?
Options :

4410094139277. # Nitrification -> Ammonification -> Nitrogen fixation

4410094139278. ¥ Ammonia assimilation -> Denitrification -> Nitrification

4410094139279. ¢ Nitrogen fixation -> Ammonia formation -> Ammonia incorporation

4410094139280. * Denitrification -> Nitrogen fixation -> Nitrate reduction

Question Number : 82 Question Id : 4410091047567 Question Type : MCQ

NS gRT Sifde gre RSB # =R0T &7 T8l 3 d Faffad & 3 i 3e

Options :

4410094139277, % ATSCIHRUT -> SHAIHRIT -> Ao fRRIH0T
4410094139278, % MY WIDHRUT -> AT IHRUL> ASIHR]
4410094139279, ¥ ATZCIoM RRIHRUI-> AT AT > ST JHa=H
4410094139280. ¥ TS IHRUI-> ATEIoM fRKIHRU1 -> Agce 3{U=g=

Question Number : 83 Question Id : 4410091047660 Question Type : MCQ
Vernalisation is a process that promotes:

Options :

4410094139641. # seed germination under darkness

4410094139642. ¥ vegetative growth at high temperatures

4410094139643. ¢ flowering after exposure to low temperatures

4410094139644, ¥ dormancy during winter

Question Number : 83 Question Id : 4410091047660 Question Type : MCQ

CRRICELI (Vernalisation) Tdh Q?ﬁ Tfhar % S Gl deldl ot % |

Options :

4410094139641, % 3R T oIS fPH0r

4410094139642. ¥ I=d dIIHM WR dHW(dD Jig
4410094139643, ¢ 9 qT9HM & T0& T 37 & §1¢ I8




4410094139644, * fid Fg b TR UG

Question Number : 84 Question Id : 4410091038565 Question Type : MCQ

Which of the following combinations of plant growth regulators exhibits antagonistic interaction in seed
germination and dormancy?

Options :

4410094104394, % Gibberellin and cytokinin
4410094104395. ¥ Auxin and ethylene
4410094104396. ¥ Gibberellin and abscisic acid
4410094104397. # Cytokinin and abscisic acid

Question Number : 84 Question Id : 4410091038565 Question Type : MCQ

W%@ﬁﬁaﬁmmﬁ@r PI-T TaToH, ST SIHRUT 3R Tt # forielt ofa:foran welRia
Dl 5?2

Options :

4410094104394, % TR 3R TEcimg~A
4410094104395, ¥ 3TfRgT 3R T
4410094104396, ¢ ToTeRferT iR ufeuRies 3

4410094104397, % TEcIble 3R UfeuRis 31

Question Number : 85 Question Id : 4410091038261 Question Type : MCQ
Which of the following is a characteristic feature of fungi?

Options :

4410094103435. # They prepare their own food using chlorophyll.
4410094103436. ¥ They are prokaryotic organisms.

4410094103437. ¥ They are heterotrophic and absorb nutrients from surroundings.
4410094103438. # They have no cell wall.

Question Number : 85 Question Id : 4410091038261 Question Type : MCQ

fRgferad 7 @ HH-91, Hae o1 ARy deur g2

Options :

4410094103435, # ¥ RIS BT STINT BB YT HISH WY IR B 5 |
4410094103436, # T MHRAIfeH Sd B1d & |

4410094103437, ¢ T fTAoHUIet BT § TUT 307 3MY-UMY T UV dcd aRNod Hd gl
4410094103438, # FTH Bls HIRHT T 781 Bt B

Question Number : 86 Question Id : 4410091047694 Question Type : MCQ
Which of the following statements best distinguishes racemose from cymose inflorescence?
Options :

4410094139769. ¥ In racemose, flowers are borne in a basipetal order; in cymose, they are in acropetal
order.

4410094139770. # In racemose, the main axis ends in a flower; in cymose, it continues to grow.



4410094139771. ¥ In racemose, flowers are borne in an acropetal order; in cymose, they are in
basipetal order.

4410094139772. # In cymose, the flowers are arranged randomly, while in racemose, there is no such
pattern.

Question Number : 86 Question Id : 4410091047694 Question Type : MCQ

fFofafRa ¥ I s hY, 3tweft (racemose) S araTeft Wb H (cymose inflorescence) 9
TaiaH U 9 fanfed srarg?

Options :
%410094139769. % SRfHTel o g JanfieRt o & Radd 8 Il & 9 srnfiemt e § faed
|
4410094139770. ¥ SrATATER T TReT 3181 T80 T T g 1Tl &; GaTaieh ¥ 98 gfs a1 @l g
%%oﬁo%mwn&?&r@m&ﬁﬁgm&mﬁmﬁwﬁ@ﬁ%;ﬂ?ﬂm&ﬁﬁéwﬁmwﬁ
|
%(3%11%39772. % JAel § g arefese U ¥ SHafRyd gid 8, Siafe arefimelt # 3 i Gt
|

Question Number : 87 Question Id : 4410091047797 Question Type : MCQ

Which of the following taxonomic categories contains organisms that are more closely related than those
in the same order but less closely related than those in the same genus?

Options :

4410094140173. ¢ Family
4410094140174. # Class
4410094140175. ¥ Kingdom
4410094140176. * Species

Question Number : 87 Question Id : 4410091047797 Question Type : MCQ

W@Hﬁﬁ%ﬂﬁﬁﬁ%ﬂﬁﬁé%ﬂamﬁﬁ%ﬁﬁwwmme order)$5ﬂ€fﬁx’r®$m
ﬁwaa%,amwaﬂ(same genus)%ﬁﬂﬁﬁmwﬁwaﬁ%?

Options :

4410094140173. ¥ oo
4410094140174, % T
4410094140175, ¥ ST
4410094140176. ¥ TR

Question Number : 88 Question Id : 4410091038597 Question Type : MCQ

Which evolutionary trait marked the critical transition from Bryophytes to Pteridophytes, allowing
colonisation of drier terrestrial habitats?

Options :

4410094104522. % Evolution of motile sperm

4410094104523. ¥ Development of lignified vascular tissues
4410094104524. ¥ Dominance of gametophytic generation
4410094104525. # Retention of zygote in female reproductive organ



Question Number : 88 Question Id : 4410091038597 Question Type : MCQ

fry famriig faRive A SrwRe 3 CReIwge db Heayul IwHu &l Ffed favar, for g
Y 1A # SUHaRE (colonisation) JHd g3l?

Options :

4410094104522, % T YhTY] T [AHY
4410094104523, ¢ [IAwISS Tdg-t Sdd! &1 faer
4410094104524, % JeIfdl Ute! Bt THTfAd

4410094104525, % HTGT U= 3T T TS BT UidROT

Question Number : 89 Question Id : 4410091038420 Question Type : MCQ
Which of the following has a double circulatory pathway?

Options :

4410094103863. ¥ Earthworm

4410094103864. # Frog

4410094103865. # Fish

4410094103866. ¥ Human

Question Number : 89 Question Id : 4410091038420 Question Type : MCQ

fAgfafad # 9 fead fg-uRd=rRo oy (double circulatory pathway) gral %?

Options :

4410094103863, # HY3AT
4410094103864. ¥ Hed
4410094103865. ¥ HHdl
4410094103866. ¥ H-d

Question Number : 90 Question Id : 4410091047825 Question Type : MCQ

Which enzyme is secreted in an inactive form and gets activated in the presence of HCI in the stomach?
Options :

4410094140281. ¥ Amylase

4410094140282. ¥ Pepsinogen

4410094140283. ¥ Trypsinogen

4410094140284. # Lipase



Question Number : 90 Question Id : 4410091047825 Question Type : MCQ
ﬁqﬁ@;ﬁﬁﬁq—mw,ﬁmwﬁwﬁaam%ﬁ?wﬁmlﬁmﬁm
B SITd 87

Options :

4410094140281, ¥ UHAS (Amylase)
4410094140282, ¢ UMRHISH (Pepsinogen)
4410094140283, % RIS (Trypsinogen)
4410094140284, % TIZUS (Lipase)

Question Number : 91 Question Id : 4410091215761 Question Type : MCQ

For a rigid body, the moment of inertia depends upon:

Options :

4410094796419. # only the material of the body

4410094796420. # only the shape of the body

4410094796421. ¢ both the mass distribution of the body and the location of the axis of rotation
4410094796422. ¥ the speed at which the body rotates

Question Number : 91 Question Id : 4410091215761 Question Type : MCQ

T TG U & forg STsa Sl R R Bl

Options :

4410094796419, % dad fUg & gard

4410094796420. % dad [0S DI 3HTHid

4410094796421, ¢ TS & Toqa faavur iR gui sfef &1 safufa
4410094796422, % g T o1a @ oA Fa1 8 39

Question Number : 92 Question Id : 4410091215435 Question Type : MCQ
Which of the following is a derived SI unit that is dimensionless?

Options :

4410094795120. # Kilogram

4410094795121. % Metre

4410094795122. ¥ Radian

4410094795123. ¥ Ampere

Question Number : 92 Question Id : 4410091215435 Question Type : MCQ

fafafed & @ oF-91, g 1 AES fAEH 82

Options :

4410094795120. ¥ foparmH
4410094795121, ¥ Hiex
4410094795122, ¢ ST
4410094795123, ¥ TR




Question Number : 93 Question Id : 4410091215894 Question Type : MCQ

In the context of the Zeroth Law, what is the significance of a diathermic wall between two systems?
Options :

4410094796959. # It does not allow heat to flow between systems.

4410094796960. # 1t allows only work but not heat to be transferred.

4410094796961. ¥ It allows heat to flow, enabling the systems to reach thermal equilibrium.
4410094796962. # It keeps the systems mechanically isolated but allows thermal contact.

Question Number : 93 Question Id : 4410091215894 Question Type : MCQ

%P:lﬁ fam (Zeroth Law) & gy ﬁ, 3 et & o sraufie iR (diathermic wall) T RIT Hgcd
?

Options :

4410094796959, ¥ g (BT & &I &S BT UdTE ol 814 aall

4410094796960, # T Had BT B aalt 8, SOT BT RITAIAR T8 Bl

441009479696 1. ¥ TG HBAT D! YATfed 511 Gall o, Ty T AT ARITaRT deh Ugd Sild g |
4410094796962. % Tg Rl & Tifie T W gud [ad! g, Afes ardig Tud gF it ]

Question Number : 94 Question Id : 4410091215795 Question Type : MCQ

On a typical stress-strain curve for a metal, beyond the ultimate tensile strength point, increasing the
strain:

Options :

4410094796555. # requires increasingly more force

4410094796556. ¥ occurs with decreasing applied force until fracture
4410094796557. # has no effect on the metal

4410094796558. % makes the metal more elastic

Question Number : 94 Question Id : 4410091215795 Question Type : MCQ
el e o fere uep fafRy yfdear-fapfa o W, A a1 I fig & w,
fapfa A g g 3

Options :

4410094796555. % 3ffeieh 9 P MARIDHl 511 TR
4410094796556. ¢ TaURT B9 deh SFIged 9 § HH! o 1Y
4410094796557, % 4T UR I UHTT Tl TS TR
4410094796558, % YT P! 3Hfeh YA I R

Question Number : 95 Question Id : 4410091216390 Question Type : MCQ

In the context of conductors, the electric field inside a conductor in electrostatic equilibrium is:
Options :

4410094798962. ¥ maximum

4410094798963. ¥ zero

4410094798964. ¥ equal to the field outside

4410094798965. ¥ always perpendicular to the surface



Question Number : 95 Question Id : 4410091216390 Question Type : MCQ

TAD! & Yoo H, FRR degd Irarawy1 & 91de & 3iaR fagyd &,

Options :

4410094798962, % SffereHdH
4410094798963, ¥ T[T
4410094798964, # TTI &F & SRIER
4410094798965, ¥ Wcd U§ & daad

Question Number : 96 Question Id : 4410091217841 Question Type : MCQ
The mobility p of charge carriers is defined as:

Options :

4410094804784. ¥ the product of drift velocity and electric field
4410094804785. ¥ the drift velocity per unit electric field

4410094804786. # the ratio of electric field to drift velocity

4410094804787. # the inverse of relaxation time

Question Number : 96 Question Id : 4410091217841 Question Type : MCQ
3T ATE ! &t Mfa=fierdr w B & =7 H oY fear S 8|
Options :

4410094804784, % 3(UdTE A7 3fR fIgyd &5 & OHHA

4410094804785. ¥ Tl 3PTs dggd &= H 3Uarg i

4410094804786. ¥ Taggd &= 3R SUATE A7 & ST

4410094804787. # fagfifd &1 & gehH

Question Number : 97 Question Id : 4410091217872 Question Type : MCQ
What is true about the nature of magnetic field lines produced by a bar magnet?
Options :

4410094804900. # They start from the north pole and end at the south pole.
4410094804901. # They start from the south pole and end at the north pole.
4410094804902. ¢ They form closed continuous loops.

4410094804903. ¥ They do not exist inside the magnet.

Question Number : 97 Question Id : 4410091217872 Question Type : MCQ
TP ¢ T GRI ST JaD 1T & W13l B! U fd & day & 1 T 82

Options :

4410094804900. ¥ d ITRT §d I URY G <ieoft Yd IR THIE Bt 5 |
4410094804901. ¥ d TI&ON Y T TRY IHR I Yd IR THIE Bt 8 |
4410094804902. ¥ d Ygd Tad U ST & |

4410094804903. % d B & <R HIGG -Tel sl g |

BT gl



Question Number : 98 Question Id : 4410091217910 Question Type : MCQ

Which of the following statements is true regarding the incident ray, refracted ray, and the normal at the
point of incidence?

Options :

4410094805056. * They lie in different planes.

4410094805057. ¥ They always lie in the same plane.

4410094805058. # The refracted ray is always perpendicular to the incident ray.
4410094805059. ¥ The normal is parallel to the refracted ray.

Question Number : 98 Question Id : 4410091217910 Question Type : MCQ
gﬁqﬁamm, 3gafdd fevur 3R e fag WR sified & dey H fgfaied & 9 &F-91 Hy g
?

Options :

4410094805056. % T AT-ST TG (planes) H FRUT B B
4410094805057 ¢ d Yd U a1 dd H UGB B |

4410094805058 # 3(Uafcd fHRor &g Smufaa fur & daad gl ]
4410094805059, # 3ffAds, 3Uafed fH0r & FHHIR BT 8|

Question Number : 99 Question Id : 4410091223989 Question Type : MCQ

Which nuclear property determines the placement of an element in the periodic table and also sets the
charge of its nucleus?

Options :

4410094829375. ¥ Number of neutrons (N)
4410094829376. #* Mass number (A)
4410094829377. ¢ Atomic number (Z)
4410094829378. ¥ Binding energy per nucleon

Question Number : 99 Question Id : 4410091223989 Question Type : MCQ

DIF-TT ANDHIG 07 3iTad GRuft & foredt dea &1 M Feiia Har g 8k 39d A& (nucleus) BT
3mawr it Feffva Har g2

Options :

4410094829375, % Il B! TAT (N)
4410094829376, ¥ SoOHTT IT-AT (A)
4410094829377, ¢ TRHIV] T (2)
4410094829378, % Tfd gfaasii- s SHoll

Question Number : 100 Question Id : 4410091217932 Question Type : MCQ

A bi-convex lens is made of glass (n = 1.5), and both surfaces have a radius of curvature of 20 cm. What
is its power in air (take sign convention carefully)?

Options :
4410094805145. ¥ +5D
4410094805146. #® +10 D



4410094805147. # +2.5D
4410094805148. # -5D

Question Number : 100 Question Id : 4410091217932 Question Type : MCQ
T f§-3TA AT DI (n = 1.5) BT @, AR QI T81 B achell AT 20 om & | G B D1
Ifaa [T gRT(STgd fag TRdTet aiforg)?

Options :

4410094805145. ¢ +5D
4410094805146. # +10 D
4410094805147. # +2.5D
4410094805148. % 5D



